
Year 5 Arithmetic Challenge 1
90 000 + 900 =           8.04 − 5.6 =           489 482 − 5398 =           

631 132 − 4972 =           90 × 7 =           918 ÷ 5 =           

9.1 − 3.54 =           50 000 + 5000 =           4.6 − 2.93 =           

903 ÷ 3 =           7.9 + 1.09 =           1000 × 36.8 =           

60 000 + 800 =           8.6 − 4.88 =           70 000 − 3000 =           
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Year 5 Arithmetic Challenge 1 
Answers

90 000 + 900 = 90 900 8.04 − 5.6 = 2.44 489 482 − 5398 = 484 084

631 132 − 4972 = 626 160 90 × 7 = 630 918 ÷ 5 = 183.6

9.1 − 3.54 = 5.56 50 000 + 5000 = 55 000 4.6 − 2.93 = 1.67

903 ÷ 3 = 301 7.9 + 1.09 = 8.99 1000 × 36.8 = 36 800

60 000 + 800 = 60 800 8.6 − 4.88 = 3.72 70 000 − 3000 = 67 000
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